E-solution COMPACT
CODE 5: 29| &=A

CODE 5: 29| &=A

o] Aol BAHL i ZELCt
OE-solutionS 51| 2 BE0|, 2H-MT|-20| £A2| HIIA0| CODEE 858 + U= AR
@E-solution FLOjAZE 258 4 Q= A=

2ES AR LWOR AL B2 T NS

2 L702 ¥t RS 3 0IZE Yol EH1, A

AE SASHAIE REE ZASILICL JIH 272 T
.I

7t 2OJZ| o™ 2T WAs ES= SAELICE

mjo
4
>

L Jo
4r o
2
D]
$9
o>

r_ln E FIF

g0l EIE E

n
kd
A
z
1o

Hr

Tt StEHiwos ZHEAY| SHEUES =AM EHE Az SBAM ChEdt 20| TSt Y&

L|C}.

*2o| MM W22 ofsfsio] FOIA B CIZ0I 010 2SOl M Y HUT %S ¥
Of0F SH= 2HOIC O BHUME BF 2 BEH HZ WAL LSY AT AS Tiefsiol, A
ol 20| 20| YL =2IHQl HHLS RASIEE BHEQ| £AE YICh 0F 95 29
Z4 LH2S TOE 30), 01012l 2SN =2/ ! 2ol S &

O ZAH=2IAI0H)
OULAH=AIZAN)
@Story telling(LH 42| HZ)
OAAH(UEG HE)

(- —1

AAHL B2 A 229 =M 7IEEH & SAE Ho| HRYUD. YUY =4 § QEQ Z/H=
AIZI% O[3l HAIZ 4 UFLICE CHS HO[R|0M= Ol2{Tr FAIK THASO0| A OEA AL
=4l 16 68 7|Z2HZE EHEREE SIS



E-solution COMPACT
CODE 5: 29| &=A

@ @
2012 2 Ck20f 0lofH 20| AMZ 7HY HHB AL
[16 6 36]
Cultural characteristics are not only passed from parents to children, but may be passed on from
any one individual to another by word of mouth or by writing.

(A) Like those infectious diseases, cultural habits such as pop music preferences and clothing
fashions may spread very quickly nowadays, especially through the media of radio and
television.

(B) So some cultural changes may be adopted quite quickly by a whole population. Transmission
of culture is rather like transmission of an infection. Flu and colds spread very quickly,
especially with the large amount of contact that people now have with each other.

(C) However, other deep-rooted cultural characteristics of races and racial subgroups are much
more difficult to change. These are the cultural patterns that are so resistant to alteration that
they have the appearance of being inherent.
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Successful bartering depends on an agreement of value. In order for you to strike an effective
trade with your neighbor, you both have to agree that one sheep is worth one coyote-fighting
weapon.

(A) But what if that’s not the case? What if your neighbor isn't in the market for more sheep?
Maybe his pressing need is a new blanket to keep his baby warm. This complicates things.
In order to make the trade, you’d first have to find someone who is willing to trade a
blanket for your sheep.

(B) If you don’t agree on the sheep’s value, it’s going to be hard to make a trade. Bartering
also depends on what economists call a double coincidence of wants. The system is most
successful when you and a second person both want/need what the other has, at the same
moment in time.

(C) Then, you’d turn around and trade the blanket for the weapon. This method of indirect
trading is clumsy and more time-intensive, but it can work if everyone agrees on the value
of all items involved.
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Experiences of family members during the immigration influence patterns of gender socialization.
For example, Mexican married couples who migrate to the United States tend to adopt more
egalitarian family roles.

(A) Men may live in bachelor communities for a time, where they often learn to cook and clean
for themselves. Once the family is reunited, the men do not necessarily discard these newly
learned behaviors. Other immigrant groups have similar experiences.

(B) In China, women have historically had low rates of labor force participation, but when they
migrated to the United States, like other immigrant groups, women’s work was necessary to
support families. Cultural norms about the desirability of women working then change as the
result of actual experience.

(C) This is not simply the result of living in a different culture, as many would believe, but is
an adaptation to migration itself. Families are often separated during the early phases of their
migration.

*egalitarian: 3 5-3-2] 2]
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To appreciate the relationship between parts and wholes in living systems, we do not need to
study nature at the microscopic level. If you gaze up at the nighttime sky, you see all of the
sky visible from where you stand.

(A) Light from the entirety of the nighttime sky is present in every space — no matter how
small. This is exactly the same phenomenon evident in the three-dimensional image created
by interacting laser beams.

(B) Yet the pupil of your eye, fully open, is less than a centimeter across. Somehow, light from
the whole of the sky must be present in the small space of your eye. And if your pupil
were only half as large, or only one quarter as large, this would still be so.

(C) This holographic image can be cut in half indefinitely, and each piece, no matter how small,
will still contain the entire image. This reveals what is perhaps the most mysterious aspect
of parts and wholes: as physicist Henri Bortoft says, “Everything is in everything.”
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Globes provide the most accurate depiction of surface features on Earth; they are the only true
representation of distance, area, direction, and proximity. However, you can’t fold up a globe and
put it into your pocket.

(A) Moreover, if you need to locate a particular city street in a specific city, you would need a
very large globe. You could, of course, make a huge globe and then just cut the sections
you need from the globe. | think you get my point.

(B) However, even though these flat maps are convenient and do display spatial information,
they give a distorted view. At present, there is no flat map that does not have some type of
distortion.

(C) Globes are accurate but not easy to transport from place to place. This is the reason flat

maps were developed — three dimensional Earth is projected onto a two-dimensional map.
You can fold up a flat map and carry it almost anywhere.
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To gain independence from the British rulers of India, Mahatma Gandhi used non-violence. Only
a person with immense faith in personal power can initiate a non-violent movement like that.

(A) Thousands of Indians joined him on this march to the sea. This campaign was one of his
most successful, resulting in the imprisonment of over 60,000 people. The British government
decided to negotiate with Gandhi.

(B) In 1930, he launched a satyagraha, known as nonviolent resistance, against the tax on salt,
highlighted by the famous ‘Salt March to Dandi’ from March 21 to April 6 1930, marching
400 killometers to make his own salt.

(C) Unfortunately, we are living in a culture where power seems to be concentrated in the hands
of a few people. When we see injustice, we may feel that we are unable to correct the
situation. But we know that some people had the courage to take change and do something
to change the situation.

D @A-©)-B) @®B-A-C @ E@B-C-A) @®OC-A-B) G (©)-B)-A)

6. F0{& = LI20| 0|0 =9 =A=2 7ty H&Est A2?

[HIHA]
Why does beauty excite philosophical attention? Immanuel Kant pinpointed a paradox, 'the
antinomy of taste', that attaches to it. On the one hand, the starting point seems to be our own
sensory pleasure.

(A) This implies that we are prepared to insist on a standard: in our thoughts there is after all
such a thing as good taste, as educated judgement, or even as being objectively right or
wrong. So it seems that we oscillate between pure subjectivity and at least a degree of
objectivity.

(B) This is one side of Kant’s paradox. The other side is that we care about beauty more than
it implies. We do argue about it, and when someone doesn’t see things our way, we might
get quiet angry. We each regard the other as badly tuned.

(C) Words like ‘charming’ or ‘boring’ seem to report the effect that something has had on us.
But even if | take pleasure in the taste of mint toothpaste and you do not, we do not have
to quarrel. There is not such thing as having the ‘right’ feeling about mint toothpaste.

*oscillate: ¥ Q.3}c}
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